5 “L'EE’}‘E’KF”:};M%%{

PEAR I E 4 13 P gk F F 09520203640 HL4 B F T

P ERRO9E 40 6 p Sk E F 09920203280 B4 i

AR 101 # 20 22 p g4k F ¥ 10120201380 514 21 ¥ 8 E2 ¥ 3 M

Bl -

[

i

Y ,f\errs(u—r FE?,&_#‘»,3> ﬂ%#%‘*,g? }\E(”TM
%‘j\’ik&)r" A= e S = A S S = S
TN

s AREREER R RE R E D Y e B
KAIE S R f TR T

CACRE D BREE PR K AT

7\
Ji

fEt:ﬁ kv %]Léji\s?djﬁé;i—rﬁg;fﬁﬁ%iﬁy
R B(pES - = 22 0 ) @R CE R
AR BEFRAF BGRE- 2 e 2



N
Az
[e]

B P T A BoR3 s FILRERES
MEe s TRRERFE LA o v o3
LN S S TR A AN L o P

(7\)3?;‘;;:_;‘73&&:64,3@@@;[&&;,&;%342}
g ’ii-vi-—'ﬁ—-—l-;}r{ 9}%1’?%‘.}‘ N "?‘J‘U\

1 = j@ - N S = I A
AERTERL D E DR BERE L - 2R
4 I S

g

e o~ LR R R R e
(- ) Bk AAE KRR AR ATk %
7&051]11? ﬁag?x%%%‘% 7{%?%%i7kfii7ko
(Z) kv ik KT @ Bk o Bk iE P
ACKEEY LBy L - BRI FIFLCE LD
EMP SRRk
T EE kT kKPR TR T
(mDYAR 2 BUR T EFEFR L A8 ¢ 12
B
(Z) AR BB ERE > e » TFd 2 AT+ F
BRL- 3B TREEED - vz s

=

im



Bk TE®E LA - T B AN oM BP RS
B ETPF AR B o

(ZH#FRaEF > LM PRER LB EELR
ARk BB R AMPEUR LB
PRk BRERET R RRRTE

s L RETpETR -

(2 )RMMPFPERENEM G RooGB = -

2o R R T K R (T T AT
()R EFHHPHEd A1 &h L PR

r$ iﬁ;,mﬂb\*rmfmrg\“rﬁyfﬁﬁb,j“rm
F’“iﬂi‘&%’ﬁﬁfk%%%ﬁ@%“fﬁﬂm(é‘ﬂ“)
AGFME EFBHFIAFE(s ~ )
(Z)F7ARMBEREZAFNA L g 2 Laa
ZAR TP R ETERLZ R -
(CE)BRMREIF2R B2 AREP  BPRW
RoEBATAREINGENHk > 22X
MBPEZAR EREAEZIER L GHEBRS
T RRRT R L RAERMR -
(z)RPEFPRABRENEM Gd R4 B = o

=~ AT kTR TR

(- ) kP REEZE-KimS e d » Tid 2 A5 4 Ak
P I AE TEXRE o AREB KR
B2 AP EERPFRREFEY R By L -
B AR T WP DRRFEE > 2
FAGRHEMBPREREFPE  BREBRLF I
LR AR E N B I M

—\\



C)%%Wﬁi%£%’§%¢¢ﬁﬁ%f%i%
KPEFERZEMPE cWPXT TRk iTEL
MR AEAEBYR P
NN (.FJlJK/Zf)
1~ Aok E R FEF A AT Tk
LA RRERP REREIEERE 2 BE > HE R
FER Tk &k o
T ARG RERESEARE TR R L
H’f%#,ﬁ*@ » F R ATORIIE R A o



7K
i

(m)

67.28
66.58
65.88
65.18
64.48
63.78
63.08
62.38
61.68
60.95
60.28
59.58
56.88
58.18

BRE ()

..-"'—.,—'
_.-"""——
/
—
/
_,-'//
/,/
g
yd |
_/ — 5

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 5500 6000

#E(cms)

R R ER B E R E RN T
70 T
60 |
50 |
40 |
30 +
20 |
10 +
0 ¥ | |
0 10 20 30 40 50 60
g (cms)

Rl BERCERBPEERENEH G R



90

80

70

60

%40

30

20

10

=

Nt
e

£ (cms)

30

o gy (X/30)/(Y/58. 18)¥100%( 8 # &%) X=t7 & im Y=k -k iz

=

ik

r

FARMPEER

%4

)

A



